Differentiation Rules Birkeq carion Rults

Q. L

—() =0 Odx=C

O )

L rna) =K (K dx = hx+ C

ax

L 0 00) = w60 CUflxidx= K P () + C

dx

A 7 o ; " Xhﬂ e n
=(x")=" 'd X = 4 C oh N ¥ -
M(X )= nx SX ¢ g

%(.Smﬂ = e Sws X AX = Sinx~+c¢C

ax L€o> X)=-$inx §sinxdx=_cosx+ C
— — ——
('{,{'(lﬂ” X) = 3¢C X S.SG'C x dx=tanx + C
i—(00¥x):'—6561x ‘ SCSCQXc?{X':—COerﬂ- C
i(&:eax‘)‘: SeexX yan x SS@C)(--}quo?%: Secx +C
4

2 (csex)= —cSeXeatX (csexegx ddx= = CScx+C
dx

d ( 3)= ¢ CeXolx =z e*+C

N >0 Lax=1nix1+C

E(ln X)4 X s/ X'/ ) )\

:@a’f Fxam L{/ we cgnm;ﬂnom the +¢ for the in’ragmﬁom_mlcs
becanse we have- Upper cnd. lower bound,
> 2()dx = Signed Area
. Mwoys -]—mlx& derivative of your cnswer, b&Po‘r\e ;VQ:.MHT?:
. inlrcﬁra+in3. Especially when you have Jrnj unctions |l
E4p|



FSic\ne,& Ar‘ﬂgi Area enclased by ) and x-axis,

1P £00 above the X-axis, then area is positive.
‘1¢ P below Hhe x-axis, MYun Grea 1S peﬁa‘nwe,

Riemann_Sums

| ; h-1 ry . |

Lfﬁir' Lns 2 f(x)Ax &jﬁf Rn‘% Fxi) A x
=0

where  Xi= a1 AX cm_d Ax= h-a

—_—

: n
1-_1‘9_5\ ® Determine what e, b, and n are.
L’ﬁ ) C rf'.{‘.C-'_ \”L‘ !’l‘.‘ ‘P?;‘..-'”L'«’r_/,‘r",.-;;- n Hu Po))owm or &-Q/‘ "

©ax  ([@x @) W Lyor Ry
Tra eZoid Rule
Th= %Ax (I—’__(on;ZP(X,)«L... + 2P (x,-,) + {’(Kn))

where Xz ati1Ax and szb_:gt

4]
T;P5:®D6+€f1’nm€ what y b, and N are.
M@ C(h[(;udodw’; He PO“C?W;'n in the PC/“OW,‘V)S? Of‘d@.r"_'

O ©x @ ©Fs
)\! .P(-,(l] _ Q{D(Xl)
Xn-) $(xn-) Q‘PUn-a)
Xn Fﬁxn) +(xn)
@ Sum all velues from (V) and multiply by 5 Ok
Y{aldiﬂs Tn.

EyPa



When 3‘\\/6\0 the graph of o« shaded region, to determine
the iﬂ+€,grm\,
D) LeH-most x-valuwe = a gb fx) dy
@ R]Shf—moﬂ x-valwe =2 b A
® the line comecting them = £X)
G Use algebm 15 determine the e_orbcalrion
Propcrﬁes of Definite In+ec]rals

Q _ : b
O* fx)etx= 0 @S& Plx)olx = - SZ P dx
@ (Premdx=k (P Poaax
® Qlo [ £q0) ) dx = Q:f P £ Gy g00dX
© (¢ fdxs §p P+ G, FOIx

ETC (2 f00dx= F(x) " = Flb) -F)

EXPODenJria\ Gfr“owa)/Dt?Co‘)l NOG&’IS

=) vy=Ce ko where k= growth rate %Conshm
C- initicl valwe
G’r‘omjm“:> K> O Dgcgy = K <O
Holf-Life @ K= =In(3)  ,p e 2
half-1ik

half-1ife

EUP3



‘(ath)?= g%t 2o+ ¢ a*-b?=

(a-b)(a+h)

w (Note these rules apply when x=e)

a+b a b ~-m !

o _
OX :XX oX :-)_(Th- iX__l
a—b a

| oaari thmic Properties
v lne¥=x=e"* +ln(ab)=1n(a) +(n(b)

']n@bx):)(lna, - In (_@) Ina) = 1n(b)

Tr‘f 1 dentites

Yap X2 8inx  Cotx = cos CREN S -
CoS X Sin x g

Lo [we | v [vys [ ma
Sin. 0% | Va |JRR [N34a ravz=|
CoS 1=/} B/ay §@/a |12 |o/7 <o

|
Remember Singx’f [SJ'F) x]Q?l: Sin (XQ)

h ()= (Rxt1) (Bx+2x+1) = 6% 4, 2
3xQ’Qx I =TA

I VL EE RV

+3x +AX +Qx +|

e Zox"+x*+ Ux + 1
Q,X 'r \ ‘ '

EYpPY



